
budynek   A-1b

KL. SCHOD

21x18,5x28

-  0,51

3

3

304.45

+ 85

28,94x10,52 = 304,45 m2

+ 5,00

+ 4,15

392,81

21 strych 1

22 komin strych 3 23  strych 2

80

80

O10

okienko strychowe

24 okienko ściana szczytowa

+ 4,15

24 schody na strych

28,23

28,94x10,52 = 304,45 m2

45,45x8,84 = 401,78 m2

-3,95x2,27 = - 8,97 m2

r-m  401,78-8,97 = 392,81 m2

6,30x4,05  = 25,52 m2

4,30x0,63 =  2,71 m2

r-m 25,52+2,71   = 28,23 m2

ogółem  304,45+392,81+28,23 = 725,49 m2

13,43x9,85 = 132,48 m2

13,43x9,85 = 132,48 m2


